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Question 3: Emma has tried to draw the graph of y = 4x - 5
Can you spot any mistakes?

Question: On the grid, draw y = 4x - 5 for values of  from -2 to 2.
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Question 1:  The scatter graph below shows information about the number of hours
spent revising for a test and the test result for a group of 8 students.
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(@) Daisy spent 7 hours revising for the test. What is Daisy’s test score?
(b) Harry’s test score was 30%. How many hours did Harry spend revising?

(c) Draw aline of best fit.
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Benjamin rolls an ordinary six-sided dice once and flips a coin.

List all the possible outcomes.
@
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Heuwords
Quadrant: four quarters of the coordinate plane.

Coordinate: ai set of valses that show an exact position
Horizontal a straight ine. from ft to right (paralel to the x axis)
Vertical a straight. ire from top to bottom (paralel to the y axis)
Origin: (0,0) on @ graph The point the two aes cross

Paralel Lines that never meet

Gradent: The steepress of a Ine

Intercept: Where lines cross
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Heuwords
Variabke: a quantity that may change within the context of the problem

Relationship: the link between two varidbks (items) Eg Between sunny days and ice cream sales
Correlation: the mathematical defintion for the type of relationship.

Origin: where two axes meet on a graph

Line of best fit: a straight ine on a graph that represents the data on a scatter graph
QOutlier: a pont that les outside the trend of graph

Quantitative: numerical data

Qualtative: descrigtive. information, colours, genders, names, emotions etc

Continvous: quantitative data that has an infinte number of possile valves within ts range.
Discrete: quartitative or qualtative data that only takes certain vales

Frequency: the number of times a particular data valve occurs
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Heywords

Qutcomes: the result of an event that depends on probabilty

Probabiity: the chance that something wil happen

Set: a colection of objects

Charce: the lkelinood of a particular outcome.

Event: the outcome of a probabilty — a set of possible outcomes

Biased: a built in error that makes dll valves wrong by a certain amount

Union' Notation "U” meaining the set made by comparing the elements of two sefs




